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QUESTION 1

You want to perform a configuration migration from a development site to a QA site. What is the Oracle-recommended
way to accomplished this?

A. Using a DB Link, log in to the development site through the Migration Center section, select the components that
need to be migrated, and start the migration.

B. Open Migration Center in the development site, log in to the QA site through the Migration Center section, select the
components that need to be migrated, and start the migration.

C. Open Migration Center in the QA site, log in to the development site through the Migration Center section, select the
components that need to be migrated, and start the migration.

D. Download the components that need to be migrated from the development site and upload them to the QA site.

Correct Answer: C

QUESTION 2

What is the correct order of execution of Configuration rules for an attribute that has both Recommendation and
Constraint rules written on it?

A. Recommendation, Constraint, Hiding, Recommended Item
B. Constraint, Hiding, Recommendation, Recommended Item
C. Constraint, Recommendation, Constraint, Hiding, Recommended Item
D. Hiding, Constraint, Recommendation, Recommended Item
E. Recommendation, Recommended Item, Hiding, Constraint

Correct Answer: D

QUESTION 3

When defining a new user, which Type value can grant a user account complete access to the CPQ Cloud site?
A. Administration with Create/Modify Users selected

B. FullAccess with Create/Modify Users selected

C. Superuser with Create/Modify Users selected

D. Root with Create/Modify Users selected

E. AdminAccess with Create/Modify Users selected

Correct Answer: B
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QUESTION 4
Identify three values that you can find in the Usage Metrics Report for the last month. (Choose three.)

A. The number of configurations completed for different product families by internal users and partner organization
users.

B. The number of transactions for different Commerce processes created by internal users and partner organization
users.

C. A list of active partner organization users with the most recent login date and time and the number of logins.
D. The number of logins by internal users in the last 30 days and the percentage of active users logged in.

E. The total data size of the CPQ site occupied on the server.

F. The total number of partner organizations and the number of active partner organizations.

Correct Answer: BDE

QUESTION 5

Which two statements are true about Formulas? (Choose two.)

A. Both attributes and library functions can be used as inputs for Formula Management.
B. Only attributes can be used as inputs for Formula Management.

C. Formulas can set both transaction- and line-level attributes.

D. Formulas cannot be run in sequence to perform multi-step calculations.

Correct Answer: CD

QUESTION 6

When creating a connection for a CPQ SOAP Endpoint in ICS, which format is expected?
A. Error! Hyperlink reference not valid.

B. Error! Hyperlink reference not valid.

C. Error! Hyperlink reference not valid.

D. Error! Hyperlink reference not valid.

Correct Answer: A

QUESTION 7
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Which Configuration Flow would you choose to design a Configurator where attributes vary based on prior user
selections and have a sequential relationship consisting of distinct steps?

A. Master Start and End Flow

B. Multi Node Configuration Flow

C. Search Flow

D. any Configuration Flow with a combination of Constraint and Hiding rules that meet requirements

Correct Answer: B

QUESTION 8

A use case requires displaying 250 rows of data to a user and allowing the user to interact with the data in

a mobile interface.

What is the Oracle-recommended method for displaying an interactive 250-row data set in a Configurator?

A. Split the data into two array sets and use logic to show the relevant set of data.

B. Use an HTML attribute to display the data and use JavaScript to create interactivity.

C. Use an array set to show this data.

D. You do not have a good option because 250 rows are too much to display on the screen of a Configurator.

Correct Answer: A

QUESTION 9

The user would like to run the "SFDC Quote Upsert" on a commerce action. Where would the user define this within
CPQ?

A. The user will define the action to run in the SOAP Generator XSL.

B. The user will select the "SFDC Quote Upsert" from the Integration list in the Integration tab on the commerce action.
C. The user will select the "SFDC Quote Upsert" from the Modify tab in the commerce action.

D. The user will define the relation in the Integration Center under the Integration Platfrom within the Admin Homepage.

Correct Answer: B

QUESTION 10
Which three page types have predefined page templates? (Choose three.)

A. Process Document List Page
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B. Product Line List Page

C. User Administration List Page
D. Model List Page

E. Parts Search Page

Correct Answer: ABC

QUESTION 11

A customer has BOM Mapping configured on their site using a simple Table-Based BOM Mapping rule.
However, they want to modify their BOM Mapping to also map an additional Configuration attribute to a
Transaction Line level attribute.

Which two methods can the customer use to achieve this? (Choose two.)

A. Add a new entry in the BOM Attribute Mapping table for the BOM item.

B. Add a new entry in the BOM Item Mapping Definition table for the BOM item.

C. Add a new entry in the BOM Attribute Definition table for the BOM item.

D. Define an Advanced BML-Based BOM Mapping rule that populates the "attributes” node of the BOM item.
E. Define an Advanced BML-Based BOM Mapping rule that populates the "definition" node of the BOM item.
F. Define an Advanced BML-Based BOM Mapping rule that populates the "fields" node of the BOM item.

Correct Answer: AD

QUESTION 12

A customer attempts to set up Subscription Ordering on their site using the steps outlined in the ABO Implementation
Guide. The site has been previously set up with BOM Mapping for a specific model. Upon testing the Subscription
Ordering functionality for this model, they notice that no values are populated in the Action Code Transaction Line level
attribute when adding line items to their Transaction. Which statement is true?

A. They added an incorrect reverse mapping entry for the model in the Oracle_aboPart2Model table (Admin > Data
Tables).

B. They selected an incorrect function for the "BML Util Function” selection under BOM settings (Admin > BOM >
Declare Util Function).

C. They specified an incorrect site URL in the abo_initializeContext BML Util Library function (Admin > BML Library).

D. They provided incorrect BOM Mapping values for the model in the BOM Item Definition and BOM Item Mapping
tables (Admin > Data Tables).

E. They failed to incorporate conditionals to handle action code statuses in the formula for the Price (List) Transaction
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attribute (Admin > Process Definition > Formulas).

Correct Answer: D

QUESTION 13

What are three valid reasons for a Configuration rule failing to execute? (Choose three.)
A. A runtime error occurs within the rule, which is firing before the current rule.

B. The status of the rule is set to Inactive.

C. The rule\\'s Condition attributes are hidden in Configuration Layout.

D. The attributes used in the rule are not added in Configuration Layout.

Correct Answer: BCD

QUESTION 14
Which two scenarios can be automated with File Transfer Protocol (FTP)? (Choose two.)
A. An administrator needs to bulk update attachments on a multiple Commerce Transactions.

B. Every month, an administrator needs to apply changes requested by the marketing department on descriptions for
parts in CPQ Cloud.

C. An administrator needs to update Configuration Attribute Value Pricing on a Model and deploy the changes.

D. Every night, an administrator queries the inventory database and updates a CPQ Cloud data table with the new
inventory levels.

Correct Answer: BD

QUESTION 15

A multi-select attribute with five options is displayed as check boxes. Depending on the conditions, the
Configurator should show a user three of these five options.

How do you accomplish this?

A. by writing a Constraint rule

B. by writing a Hiding rule

C. by writing a Recommendation rule

D. by writing a Pricing rule

Correct Answer: B
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